015 £ B X B A (A 2 O R ER (—13m)i# R T =8

VDb Y

E 2 pup::pes

7 H BLEEXE

£ H BLEREE

B o# o IEE

BEES 18-13-23-026



SHIEEARE S5 E N A BN B R)MERGC13mB RIS

£ 71 R - mikTiE By B 2 B @ * £ =

EEIZE 59, 324, 457
fifLER (—13m) 59, 324, 457
BET 37,190, 678
S JRRET 37,190, 678
95784 37,190, 678
1-1 5T FEELR NE10RE KE15mKH 18, 348. 00 1,404 25, 760, 592

m3
1-2 5 TE% Q) #EE LR NE10RE KIR15~30mkKH 6, 347. 00 1,418 9, 000, 046

m3
1-3 75 Dk (T@EHhigm) xR 55 T %M $D23m3 x 1/yE 1.00 2,430, 040 2, 430, 040

%
T#T 22,133,779
TEMENRT 22,133,779
TEMER 22,133,779
1-4 L& fmEk BRLEM M1, 300m3FE (FHX) 24 695. 00 778 19,212, 710

m3
1-5 LiEfmHEK 1.00 2,921,069 2,921,069

=
HERERE (FRL) 11, 880, 195
HBE R 11, 880, 195
HBE R 11, 880, 195
E% 3PSk 9,728,900
KE B AL 9,728,900




EHEERNRE

T FN54F BEN B (A B KMEE(-13m)ZRTE

£ i1 B - R By = i ® B =
1-6 S5ALE#ERE 22mx22m 1.00 1,277, 200 1,271, 200
=
1-7 Fabh e iE 22mx22m 1.00 1,081, 500 1,081, 500
=
1-8 FAMGLERENE 22mX22m H=18m 1.00 7,370, 200 7,370, 200
=
TeE 1,990, 230
75 312, 448
1-9 ERiZ 1.00 9, 360 9, 360
s
1-10 BKEE 707.00 267 188, 769
m2
1-11 REEER 1.00 104, 319 104, 319
=
1-12 £BEERR 1.00 10, 000 10, 000
=
REXR 1,677,782
1-13 ZEBEEH/M (1) BKIFEER 1.00 214, 066 214, 066
=
1-14 ££EHM () B 1.00 1,463,716 1,463,716
=
KE - GEEREH 61,065
KEREH 58, 338
1-15 KEFREH (1) 95 D% HD23m3x 1£€ 1.00 31,066 31,066
=
1-16 KEREH (2) BAEEM $M1, 300m3 (FREAX) x5E 1.00 22,727 22,721
=
1-17 KEFREH (3) #IKEHID270PSE! 3~5tm x 15 1.00 4,545 4,545
%
EERER 2,727




SHBERNRE S5 E N A BN B R)MERGC13mB RIS
£ i1 R - BikTiE BT £ fii * %
1-18 EEREH BKEX1A 1.00 2,727 2,727
=
RiTeEE 100, 000
HirEE 100, 000
1-19 BiiE8EE HREYPRFAE (IS 1.00 100, 000 100, 000
=
EiEA=E 3,824,825
P 3,824,825
TILFE—LBE 3,824,825
TILFE—LBE 3,728,825
B 333, 668
2-1 Ql=#E (1CT) IR, BRI 1.00 169, 074 169, 074
=
2-2 H#RERE (1) HEIE 2EELY 1.00 82,297 82,297
=
2-3 H#HIEE (2) BT 2R Y 1.00 82,297 82,297
%
KiFBE 1,407, 364
2-4 fEEFAL (I1CT) () EIR 1.00 624, 204 624, 204
=
2-5 BRETFAKL (ICT) (2 B IR 1.00 624, 204 624, 204
=
2-6 BIE (1CcT) (1) EIR 0.05 683, 367 34,168
km2
2-THEZFER (1CT) (2 B IR 0.05 2,495,778 124,788
km2
£ 1,987,793




SHIEEARE S5 E N A BN B R)MERGC13mB RIS
£ i1 R - BikTiE BT £ B @ * % =

2-8 BIBT—4%E (ICT) 1.00 573, 206 573, 206

=
2-9 BIMT—2RIE BRI) (IC 1.00 1,414, 587 1,414,587

T) %
EEREE 96, 000
MR 96, 000
2-10 EHFEM 1.00 96, 000 96, 000

=
B[R 256, 006
P 256, 006
TILFE—LBE 256, 006
EEAGE 248, 550
MR 248, 550
3-1 3RFTERET—2ERL (1 CT) i 1.00 248, 550 248, 550

B3
EHERE 7,456
MR 7,456
3-2 EERARE 1.00 7,456 7, 456

=




SHEERER S5 E N A BN B R)MERGC13mB RIS

% 5 g - kT E T3 H B i & # =
EREISEE 59, 324, 457
FEIEE 18, 467,884 + 16, 149, 689 34,617,573
HBEfREE GhH 11,880,195 + 6,304,571 + 283, 118 18,467, 884
HBREE (FELE) 11,880, 195
HBRERE (R) 69,053,357 x 9.13% ((5.82% x1.28 +1.50%) x 1.02) 6, 304, 571
BISBENER 69,053,357 x 0.41% 283,118
RSEER 77,792,341 x 20.76% ((19.06% +1.10%) x 1.03) 16, 149, 689
TER{E 59,324,457 + 34,617,573 93,942, 030
—RERES 93,942,030 x 17.23% (17.23% x 1.00) — 5,817 16,180, 394
SR E 93,942,030 x 0.04% 37,576
Tl 93,942,030 + 16,180,394 + 37,576 110, 160, 000
EENEE 3,824,825
ERE 3,824,825 x 73.3% — 8,421 2,795,175
AEEEE 3,824,825 + 2,795,175 6, 620, 000
IR E B 6, 620, 000
BRI 248,550 + 7,456 256, 006
EEAGE 248, 550
EERE 7,456




SHEERER DRISE N HBECREMRMBE(-13m)RETIE
% # g - Mk % T3 g & #

ZOthR 248,550 x 53.85% ( 35% <+ (1 — 35%) ) 133,844
BRI 256,006 + 133,844 389, 850
—RERES 389,850 x 53.85% ( 35% =+ (1 — 35%) ) — 9,784 200, 150
ES 4T 389,850 + 200, 150 590, 000
EHE T 110,160,000 + 6,620,000 + 590, 000 117,370, 000
HEBEMRLE 117,370,000 x 10.00% 11,737,000
FATEE 129,107, 000




Rifiz -/ \v7r—o

SHSEEMBABGERR)MBCIMBETE

&5 :1-1
B USTBEAN) HEBELE NE10RE KFR15mEKHE 1BH&Y (4017m 3)
2 b g - BIRTE By = BHO(f ® W = " =
55 TREMEBRBER) (R/8y FX) $8D 23. 0m3
B 1.00 5,193, 218.00 5,193,218/8.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 420, 138. 00 420, 138/2.00H / 8H
MR EXENOY
% 0.50 5,613, 356. 00 28, 066
& H 1E%8EH - 4,017.00m 3 1,404. 00 5. 641,422
&5 :1-2
&M TS TERQ) HEBELR NEI0OERE KFE15~30mEKH 1B&Y (3977m 3)
2 b g - BIRTE By = BHO(f ® W E " =
55 TREMEBRBER) (R/8y FX) $8D 23. 0m3
B 1.00 5,193, 218.00 5,193,218/8.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 420, 138. 00 420, 138/2.00H / 8H
MR EXENOY
% 0.50 5,613, 356. 00 28, 066
& B YEZERESN - 3,977.00m 3 1,418.00 5, 641, 422
&5 :1-3
& U5 JREMR (EEER) R J 5 JRER HFHD23m3 x 1iE 1LY
2 b g - BIRTE By = BHO(f ® W E " =
55 TREMEBRBER) (R/8y FX) $8D 23. 0m3
B 1.00 2,196, 830. 00 2,196, 830 #tH
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 233, 210. 00 233,210 #£H
& Hi 1E%Heh - 1.00K 2,430, 040. 00 2,430, 040




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 :1-4
L TEMER BRMTEMR 81, 300m3FE (FEX) 1% Y (4006m 3)
2 b g - BIRTE By = B O ® W = " =
TEM (R ) $M1300m37& (A=)
B 5.00 271,587.00 1,357,935 10H
5fin £MD 1500PSZY
B 3.00 581, 510. 00 1,744,530 8.00H / 10H
MR 2E0%
% 0.50 3,102, 465. 00 15,512
& B YEZERES - 4,006.00m 3 778.00 3,117,977
&5 :1-5
L . TEMEEK 1LY
2 b g - BIRTE By = B O ® W E " =
HEER
A 1.50 27,410. 00 41,115
HIRIEXS
A 0.50 24, 680. 00 12, 340
LEEXS
A 7.50 21, 840. 00 163, 800
STFL—29L—r A AR ER) ChEfES IR 16tH
B 2.50 51, 500. 00 128, 750 8H
Ko KRV T B ¢ 100mm
B 260. 00 452.00 117, 520
B B
L 364. 00 143.00 52,052
HEEFEH 25kVA
B 26. 00 1, 960. 00 50, 960
Mg R—XEE
= 1.00 2,340, 000. 00 2,340, 000
MR 2E0%
% 0.50 2,906, 537. 00 14,532
& B 1E%HeH - 1.00K 2,921, 069. 00 2,921, 069




Rifiz -/ \v7r—o

SHSEEMBABGERR)MBCIMBETE

ES . 1-6
ZF5 FABLRHRE 22mx22m 18 LY
£ 5 L - BIRTiE BAf = B & % i " =
BB IERRE BELD L—2sAd (Bt22 x 22miR)
H 1.00 1, 2717, 200. 00 1,271, 200
& Hi 1E%HEN - 1. 00& 1,277, 200. 00 1,271, 200
&S . 1-7
B FEBLERBE 22mx22m 124y
£ 5 L - IRTiE BAf = B & # i " =
AL EE e LD L—2sAd (Bst22 x 22miR)
= 1.00 1,081, 500. 00 1,081, 500
& Hi 1E%HEN - 1. 00& 1,081, 500. 00 1,081, 500
&5 . 1-8
L FHEBFLERIEHE 22mx22m H=18m 1LY
£ 5 L - BIRTiE BAf = B & % i " =
EEM L 22mx22m [$D23m3]
= 1.00 717, 400. 00 717, 400
EEbILIEE R 22mx22m H=18m
= 1.00 6, 652, 800. 00 6, 652, 800
& Hi 1E%HeH - 1.00K 7, 370, 200. 00 7, 370, 200




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 :1-9
B BRAE 1TH&HY (17.94h5)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 52,079. 00 52,079 8H
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 1.00 32, 200. 00 32,200
MR 2E0%
% 1.00 165, 897. 00 1,658
& B YEZRES - 17.904h = 9, 360. 00 167, 555
&5 :1-10
&% . BKEE 1BEY (780m2)
2 b g - BIRTE By = B O ® W = " =
Bk D 270PSE! 3~5tH
B 1.00 183, 445. 00 183, 445 8H
HEEEE Bk 203!
B 1.00 19, 305. 00 19, 305
MR 2E0%
% 3.00 202, 750. 00 6, 082
& B YEZERES : 780.00m 2 267.00 208, 832




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 1-11
£ MESERK 1LY
2 b g - BIRTE By = B O ® W = " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
MR 2E0%
% 0.50 103, 800. 00 519
& B 1YE%HeH - 1.00K 104, 319. 00 104, 319
&5 :1-12
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® % W E " =
EBHRERERE
= 1.00 10, 000. 00 10, 000
& Hi 1E%HeH - 1.00K 10, 000. 00 10, 000
&5 1-13
£ REERMO) BKIEEH 1LY
2 b g - BIRTE By = B O ® W E " =
ZEEEMm FRP D 180PS#Y
B 1.00 99,112.00 99,112/6.00H / 8H
ZEEEMm FRP D 260PS#Y
B 1.00 113, 272.00 113,272 6.00H / 8H
EFRVHF &1 EFEVHF 457
B 1.00 617.00 617
MR 2E0%
% 0.50 213,001. 00 1,065
& B 1E%Heh - 1.00K 214, 066. 00 214,066




Rifiz -/ \v7r—o

SHSEEMBABGERR)MBCIMBETE

&5 :1-14
£ REERMQ2) LEE B
£ £ g - BIRTE BT = B O ® M = & &
TEERM FRP D 180PS#Y
B 6.00 113, 716. 00 682, 296/8. 00H / 10H
TEERM FRP D 260PS#Y
B 6.00 128, 406. 00 770,436/8.00H / 10H
[E| FEVHF 2 {5 EFEVHF 457
B 6.00 617.00 3,702
MR 2RD%
% 0.50 1,456, 434. 00 7,282
& i 1EZBERN - 1.00 1,463, 716. 00 1,463,716
&5 :1-15
& KERRH () TS5 THEM $HD23m3 x 15£ B
£ £ g - BIRTE BT = B O ® M = & &
KEREF
= 1.00 31, 066. 00 31, 066
& Hi EZBER - 1.00 31, 066. 00 31, 066
&5 :1-16
£ KEREF (2) HRATLEM 881, 300m3 (FERAK) x 5% B
£ £ g - BIRTE BT = B O ® M = ik &
KEREF
= 1.00 22,721.00 22,721
& Hi EZBER - 1.00= 22,721.00 22,721
&5 . 1-17
¥ KEREF Q) BKLMD2TIOPSE! 3~5tH x 1€ B
£ £ g - BIRTE BT = B Ol ® W = & &
KEREF
= 1.00 4,545.00 4,545
& &t EZHEH ;- 1.00= 4 545.00 4 545




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 :1-18
£ EEREH BKkEx14 1LY
2 b g - BIRTE By = B O ® # " =
SEREH
= 1.00 2,727.00 2,127
& Hi 1YE%HeRH 1,00 2,727.00 2,127
&5 :1-19
2% HiTEEE EREPRAZT(IS) 1LY
2 b g - BIRTE By = B O ® # " =
HREIMAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
&5 : 2-1
L% BEXME (1CT) RBIM, BI 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 0.50 32, 200. 00 16, 100
MR 2E0%
% 1.00 167, 400. 00 1,674
& B 1E%Heh - 1.00K 169, 074. 00 169, 074




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 :2-2
£ BAMER() EIF 2EE%HY 14y
2 b g - BIRTE By = il ® W = " =
BIEWHEE
A 2.00 217,000. 00 54,000
FSvo 2tiE
B 1.00 217,483.00 27,483/4.70H / 8H
MR 2E0%
% 1.00 81, 483. 00 814
& B 1YE%HeH - 1.00K 82,297.00 82,297
&5 :2-3
B HMIERR Q) BT 2EELY 14y
2 b g - BIRTE By = il ® W E " =
BIEHEE
A 2.00 217,000. 00 54,000
FSvo 2tiE
B 1.00 217, 483.00 27,483/4.70H / 8H
MR ELNOY
% 1.00 81, 483. 00 814
& B 1E%HeH - 1.00K 82,297. 00 82, 297




REAR-ET/Avr—> A H154F FE AT B B (A E M RO ER (- 13m)i e T

BE .24
S BETRK (ICT) (1) BIR
£ b1 L - BIRTiE BAf % = B € & = & &

REE S4 k2L

B 1.00 3,318.00 3,318/2.00H / 8H
B2 FEHER

A 1.00 51, 000. 00 51,000
Bl S HEm

A 1.50 44, 000. 00 66, 000
B

A 1.50 34, 300. 00 51,450
BEENF

A 1.00 32, 200. 00 32,200
BIE/ FRP D 70PSZ!

B 1.00 50, 231.00 50, 231 /8H
GNSSBIfI & & DGNSS

B 1.00 25, 575.00 25,575
TILTF E—LETEHFE 36~ 455kHz

B 1.00 338, 250. 00 338, 250
MR 2EDY

% 1.00 618, 024. 00 6,180
& f ek - 100K 624, 204. 00 624, 204




REAR-ET/Avr—> A H154F FE AT B B (A E M RO ER (- 13m)i e T

&S .25
B BETAN (ICT) () BT
£ Eo) 3R - ks B % B B & % m = 5 =

REE SA4 kR 2L

=] 1.00 3,318.00 3,318/2.00H / 8H
BIEFEHEM

A 1.00 51,000. 00 51, 000
RIS HRER

A 1.50 44,000. 00 66, 000
BIEHEE

A 1.50 34,300. 00 51, 450
BEENF

A 1.00 32, 200. 00 32, 200
HIE M FRP D 70PSE!

=] 1.00 50, 231.00 50, 231 8H
GNSSRIGIEE DGNSS

=] 1.00 25,575.00 25,575
TILF E—LFEBIFEH 36~455kHz

=] 1.00 338, 250. 00 338, 250
HAH =730

% 1..00 618, 024. 00 6,180
& i YEZgeH - 1. 00 624, 204. 00 624, 204

10




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&S :2-6
ZFMAE (ICT) (1) HIK 1HHY (0.84km2)
£ 5 L - BIRTiE BAf = B & % = & &
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 50, 231. 00 50, 231 8H
B2 FEHER
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.00 44,000. 00 44,000
B
A 1.00 34, 300. 00 34, 300
BEENF
A 0.50 32, 200. 00 16, 100
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
HEMH 2EDY
% 2.00 562, 774. 00 11, 255
& B 1E%HEN :0.84km2 683, 367. 00 574,029

11




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 :2-1
M AE (1CT) () BIB 1B%Y (0.23km?2)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 50, 231. 00 50, 231 8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 0.50 32, 200. 00 16, 100
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILFE—LBERZEE 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 2.00 562, 774. 00 11, 255
& B EEREN :0.23km 2 2,495, 778.00 574,029
&5 :2-8
£ EIRT—2%E (1CT) 1K%Y
2 b g - BIRTE By = B ® W E " =
BIEFEHEM
A 3.10 51, 000. 00 158, 100
RIS HRER
A 4.10 44,000. 00 180, 400
Bl S H A
A 6. 20 34, 300. 00 212, 660
MR 2E0%
% 4.00 551, 160. 00 22,046
& B 1E%HeH - 1.00K 573, 206. 00 573, 206

12




Rifiz -/ \v7r—o

HRI5EF BN BB (R B MR (-13m)R2 R T E

&5 .29
B BIBT—2FE B%I) (ICT) 1Y
£ 5 L - BIRTiE BT = B & % i " =
IS EHER
A 5.10 51, 000. 00 260, 100
RIS HRER
A 14. 40 44, 000. 00 633, 600
B
A 13.60 34, 300. 00 466, 480
HEMH 2RD%
% 4.00 1, 360, 180. 00 54, 407
& i E%82H : 1.00=% 1,414,587.00 1,414,587
&5 . 2-10
& EFRER IEED)
£ 5 L - IRTiE BT = B & # i " =
EBHRERERE
= 1.00 96, 000. 00 96, 000
& it E%82H : 1.00=% 96, 000. 00 96, 000
EE5 31
B SRFTERET—H2ERL (1 CT) BIF i
£ 5 L - BIRTiE BT = B & % i " =
FAEHED (F%E)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 1.50 45, 300. 00 67, 950
AR (C)
A 1.00 35, 600. 00 35, 600
& it E%8EH < 1. 005EER 248, 550. 00 248, 550

13




REAR-ET/Avr—> A H154F FE AT B B (A E M RO ER (- 13m)i e T

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 7, 456. 00 7, 456
& Hi 1YE%HeRH 1,00 7, 456. 00 7,456
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